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(1) PR A= (o) VTHEOFEFEICEY o = 3.38 N/uf
(2) B & 58 (m)
m = 0.85:SL + 30 = 33.1 N/mf
- 3° 0 _ 2
m = SL + 2-0 = 33.8 N/mr’
Xo>T m = 33.8 Nmf
(3)KkEA FEH(W/C) m = -16.2 + 27.1 X C/W
W/C = 27.1 = (33.8 + 16.2) X 100 = 54 % = [55% (_-FR{HE) ]
SJW/C = 54 %
(4) A KR (W) MTHOFEEIZEIY W = 170 ke/m
(5)HEfE AL FE(C) C =W + (W/C) X 100 = 170 +— 54 X 100 = 315 kg/m
Cv= C = #J = 315 ~ 3.04 = 104 L/m
(6) 7558 (A) A = 4.5 % X 1000 = 45 L/nd
(7T)HEAHEME(G) U THOFEECLY 2»SFHE = 0.566 m/m FEHEE = 60.0 %
Gv = 0.566 X 1000 X 60.0 — 100 = 340 L/mb
Glv = Gv X 20.0 % = 68 L/md Gl= GIlvXEELEE = 68 X 2.72 = 185  keg/m
G2v = Gv X 30.0 % = 102 L/m G2= GUXRHEE = 102 X 2.72 = 277  kg/m
G3v = Gv X 50.0 % = 170 L/m G3= G3vXHKHEE = 170 X 2.70 = 459  kg/mi
(8) HfrHE#M & (S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 659 = 341 L/m
Slv = Sv X 50.0 % = 171 L/m S1= SIVXREHEE = 171 X 2.66 = 455 ke/m
S2y = Sv X 50.0 % = 170 L/m S2= SoyXEKWEE = 170 X 2.66 = 452 kg/m
() MEH=E(s/a) s/a = Sv ~ (Gv+Sv) X 100 = 50.1 %
(10) FAAZIREFNA) & (Ad) Ad = C X iMFE = 315 X 0.675 % = 2.13 ke/m
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